20244E FHTIMIFRIETT A AR —Y REEZF/KKBHE RS (EEAEOH)
2 BRER 7 —/1 (50m)

HH : 20245E7TH29H (H)

No.47 Z+F 4x50m 21)—1) L—

B A LL—RRE

1/2

REcEk  1:46.75

F—Ls Kk B B
1 HKS 2/ 5 1:49.95
26.92 54.43 1:22.53
1 BH 2K =l (0.72) 26. 92
2 B FETE w2 (+0.37) 27.51
3 g B = (+0. 68) 28. 10
4 ER)NF R = (+0. 37) 27. 42
2 HH 2/ 6 1:56.70
28. 27 58.12 1:27.58
1 B =2 (0.56) 28. 27
2 fRE fiir =2 (+0.51) 29. 85
3 kW ‘i E2  (+0.55) 29. 46
4 LT WE =2 (+0.33) 29.12
3 HEULAIFAE 2/ 7 1:58.53
28.72 59.68 1:30.37
1 B EE w2 (0.7 28. 72
2 Hl E#E w2 (+0.51) 30. 96
3 /NEOBEE = (+0. 37) 30. 69
4 FJFE MER =1 (+0.50) 28. 16
4 )R E 2/ 3 1:58.61
29.61 1:00.31 1:31.14
1 #H #h w2 (0.62) 29. 61
2 A o) w2 (+0.30) 30. 70
3 EREF b E3 (40, 49) 30. 83
4 Merx RbAE =2 (+0.35) 27. 47
5 HiEFE 2/ 4 2:00.40
29. 98 59.09 1:30.04
1 f@k ZEE =1 (0.76) 29.98
2 &R 63 =2 (+0.29) 29. 11
3 EH AKX =2 (+0.04) 30. 95
4 Al R T =2 (+0.32) 30. 36
6 kg 1/ 5 2:02.70
29.68 1:02.87 1:32.90
1 %E Z5/M =l (0.58) 29. 68
2 A HELS w2 (+0.44) 33.19
3 WrEHHOE = (+0. 40) 30.03
4 FEH 1 =2 (+0.19) 29. 80
7T RRIEIERE 1/ 4 2:04.58
31.36 1:02.03 1:34.77
1 BA BRE =2 (0.66) 31. 36
2 A W w2 (+0.28) 30. 67
3 ME H3E E2 o (+0.43) 32. 74
4 ®wE A =l (+0.2D) 29. 81
8 MpE T % 2/ 2 2:05.99
33.04 1:03.94 1:35.91
1 &g =1 (0.72) 33. 04
2 AR B =2 (+0.44) 30. 90
3 Wi =i =l (+0.47) 31.97
4 FR M =2 (+0.29) 30. 08
9 5 1/ 6 2:06.49
31.45 1:05.02 1:37.54
1 g b3 L (0.62) 31. 45
2 &Lk e =2 (+0.38) 33.57
3 FiaEx1t =l (+0.44) 32. 52
4 FHh EE w2 (+0.28) 28. 95

Hi ) B IR

TH29H 15:02



20244 FBTIMIBIR T RAR & A R — Y R B FKIKBER RS (B DHR)

=5 BiRERE 7 — /L (50m) 2/2
IR - 2024427 H 291 (H)
No.47 Zx+F 4x50m 21)—1) L— R A LL—R R Rk 1:46.75
F—L4% K& B
10 #hA) 7= 2/ 8 2:06.68
27.99 59.47 1:32.45
1z EH w2 (0.63) 27.99
2 AR A& =l (+0. 07) 31.48
3 M B = (+0. 47) 32.98
4 il B &1 (+0.45) 34.23
11 A7g it 1/ 3 2:09.08
32.48 1:05.21 1:39.44
1 9y %2 =L (0.72) 32.48
2 & OFHEE El (40,41 32.73
3 AR HE ml (+0.34) 34.23
4 EIE EME =2 (+0.26) 29. 64
12 [LIFERE 1/ 7 2:09.42
31.05 1:02.58 1:35.13
1 g e m=l o (0.59) 31.05
2 g EK =2 (+0.03) 31.53
3 RKE MW ml (40, 40) 32.55
4 wmiL FE =2 (+0.26) 34.29
13 FkE 1/ 8 2:22.16
30.13 1:16.41 1:48.71
1 V5B =Y =3 (0.65) 30. 13
2 RH EF w2 (+0.60) 46. 28
3 Mk Hfn ml (+0.28) 32. 30
4 iRy B E=3 (+0.30) 33. 45
HAOBEKE: 7H29H 15:02



